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P1 "2,4,2,6:A,B"

:X2N V79N 2apEn-

The sum of column 2 of A is: 14
The sum of column 4 of A is: 7
The sum of column 2 of A is: 14
The sum of column 6 of A is: O
The sum of column 2 of B is: 26
The sum of column 4 of B is: 6
The sum of column 2 of B is: 26
The sum of column 6 of B is: 4
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#!'/bin/awk -£
BEGIN {param=ARGV[1];ARGV[1]=""
split (param,pair,":")
split(pair[1l] ,nums,",")
split(pair[2],files,",")
for (i=1l;i<=length(files) ;i++) {
ARGV[i]=files[i]
}
ARGC=1length (ARGV)
}
{
for (i=1l; i<= NF; i++) {
A[FILENAME,FNR,i]=$i
}
B[FILENAME ] =FNR
}
END {
for (x=1; x < length (ARGV); x++) {
for (i=1; i<=length(nums); i++) {
process_column (ARGV[x] ,nums[i])
}
}
}

function process_column(M,]j) {

s=sum_column (M, j)

print "The sum of column",j,"of" , M,"is:",s
}
function sum column(M,j,i) {

sum=0

for (i=1;i<=B[M];i++) {

sum+=A[M,1i, ]

}

return sum
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string=$§1
i=$2
j=$3
replace=§4
length=${#string}
left=${string:0:$[$i-1]}
num=$ [length-$7j]
right=${string:$j:$num}
echo "${left}${replace}${right}"
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string=$§1
i=$2

j=$3
replace=$4

{length=${#string

([left=$ (expr substr "$string" 1 $[S$i-1
[num=$ [length-$j

(right=$ (expr substr "$string" $[$j+1] $num
echo "${left}${replace}${right}"
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abc 123 abc
abcd abcd
ab abab cd
abb abb
123 cd cd 56
P3 F1 :NT1{290 Nn?209n MRY?
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abcd abcd
abb abb

123 cd cd 56
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sed -r '"/(*I[ 1H) ([~ 18T 1+(\2) ([ 118)/'d' $1
sed -r '/(*I[ 1H) ([~ 1H) L 1+(\2) ([ 11$)/d' $1 >|tmp
sed -n '$=' tmp
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